# Ge\nera.l, trick 1o qpfroach
questions in physics :

Steps to fotlow while Solw'ng any nuwmenical -

(1) Read e Question avd understand it .

(2) Weite what is given:

CS) Write +the -\-moqj, CovscePt . Qnd definition of
impostaut  tevms ™ relatqve  {o the
Question.

(14) Draw diagram ov grapns (iff applicable)

(S) Write formutae used
+ Dimentional formula

¥+ wunits of Measurement
+ Conclusion of e formula v a Single
Statement .

(5) Solve tvie wnumerical (Ma-&h Pare) ownd
Yepresent e final Onswer with ks
ST unit

# Basic Math

VMEMSTOR b Some times Scalar guanties have direction:

€.9. pleckric Qurrent < it nas dicection buf doesn'd
follow vVectorr algebra

9. Cleetric {lux 2it s Scalar but bhas direction>

I a physical Scalar Quantity Qualsoe have a hegative



Quanties £ Physical > at
have only wmagnitude -

Quantites that Cannot be
Studied without divectiom

{-¢: they have magniiude
€ direction.

tney follow normal
algem.

Value : :

e'ﬂ' Work —> when 0= 180 Yfw ?ma 54

they  follow Vector
algeora .

€9° Speed, Volume, mass,

ttmperature, power, wivk,

energy, time ebe-

¢q:

Qvea, displacement,
torque, impulse, Force,

Nelocity, dipole moment,

magnetic Reld etc.

4F Parallel vectors

S
7

S0Mt important terms of Nectors
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I Compovents of a Vector
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ax
dootion as Sealar = A(48)

st
devotion s Neskor = A (a0 +235)

Taws

INERTIA

I tne net exterval fovee
is zerd, o body Ctontiuues o

be in its Stute of motion ov ot

hest -

[+W& property of e lody is called
as inertia J

If the body is at rest or moving with a
constant speed in a straight line, it will remain
at rest/keep moving in a straight line with a
constant speed unless it is acted upon by a force.

Second law of motion

= The rate of chavge of momentum of a body
{5 directly proportiovol to tie Opplied force and

takes ploce in the diveckion m which the force acts.
— —_
F o dp
dt

Jor o body having comstant mess ,
-

F=m L\? = ME?
dt
—p

Hewe, F= ma

Cendripital fovee

7

—  The product of force and time, which i

the Chauge in momeutum of 4 body U kiowy

as Impulsc. [uecﬂn quam;‘eﬂ

Twpulse (1 or T) = Fovee £ bime duvation
ieez Chavge w  momentum

It Can also be defired o :

&mﬁw%al ﬁrt@

- 9 uniform Civcular wiotion, the force acking

on the parkicle alowg the radius and fowavds

e centre keeps the body moviug alonp bme

= 'mv‘L

r

/Wé 49/9’1/6 /fW% %énwm

Verficol Conculows Motion

= whea 4 pavticle is whicled in a Verticle Circle

fhen dme tnree  possibly results orel-—

c

VAR M}-?—%
CASE T:

e 2 .,4,7-..7,9;,, [G))

Particle oscillates i Hhe [4“ e e pﬂ

lower half circle AB.

CASE [: moves 4o éhe wpper

Walf but unable Jo Complete the
loop-

CASE TIT : Partide completes the

whole (oop+

net fovce fooards the Centre = Centripital foree
X
T-mg (s = s

2
T = mgCosO + mv
r

T l:‘—[w‘—gr (1»3Lns9)]

%as "B ;J ut-2gr (1- c0s0)

Creulays path , 50 Called 4c (entripital fovee .

— twe Partide will complete the loop 1f
tme String doeswt slack ot ighest
Point C.

1
Hemee T = '—"rlb S



To every action, there is an equal and

mokion due to the oaccelerated frame of vefecence along

# ‘/\/ORK the wradiug

work = Force % Compovent of P
along e displacement -

W = (v-wss)d
= F(dwsﬁ)

- —
Henee ) in vector form W= F.d
 Work s scalar>

Unit 2 Nm OB Toute ()

Dimeusion = MLLT-L

ﬁt work Can be negative, Positive O zero
depending upm the angle bttween the

force and  oisplacement -

[u when ©= '-?n']

&mfri fugal Torce

opposite reactioun- the osuedo force erperienced by a body in Uniforw  Cireular

away from the Centre.

here = Lcos@ Sin B =

’9'-'-' L Sin@

Cos 0 =

tou ©

"

Cin20 + Cos?6 =1
1+ tau?® = Sectd

1 + o0 = (osec*®

w > 4} 59v

FORCE

~ interaction bjw two bodies ) #at
when not Opposed will change some
foctovs. (anemuy moh'on)
= S.I. ynit = Newton (N)
— Dimentional formula = [HLT-’J
how!? f=zma
2.2 mx mestre
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Qe ® - tamld = 1
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